180

910
388
(251)941

(251)941
( 31) 31
(282)972

1,445 1,445

168 168

94 94

1,707 1,707

H15.8.1

)
39 15




180




180

(

)




897
1,005
784

20km/h 2 183km/h H1L
180 19.9km/h H15
10,000 7/
25t 150
(49.0ha)
(18.2ha)




1.5km/km?

= DID

100

(300
5ha )

16ha

(H179

500 /

500 /

1,000 /12h

(H16 20




500 /

(]

500 /12h

40

1,000 /12h
100 7/

500 /

€02

€02

16,000t/

(

NO2

NO2

SPM

SPM

H16.5




180




RiEM

180

LR

HeEE

L

TRETIT T
| EeE !




000







aam

30




Eiti 1805 =k 1808

(E &) EF S

A REHER i DA M 80 A
& B
ot f

L =

Ll R

Eil 2%

i 2 7
(= X&)

(E KM



H42

H1




